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O O O How people feel about getting more of some good when they must give up anamount of some other good
iS probably themost important reason for studying preferences. The areas identified with question marks in Fig-ure
2-1 are difficult to compare to X*.Y* be-cause they involve more of one good and less ofthe other Whether a move
from X*y* intothese areas would increase utility iS not clear. Tobe able to look into this situation.we need
someadditional tools.Because giving up units of onecommodity[] for example[J money[ to get backadditional
units of some other commaodity [J say,candy barsCJ iS what gives rise to trade and orga-nized markets[] these new
tools provide the foun-dation for the economic analysis of demand.IndifieFence CurvesTo study voluntary trades
(1 we use the concept of an indifference curve.Such acurve shows all those combinations of two goods that provide
the same utility toan individual that isC] a person iS indifferent about which particular COmbinationof goods on
the curve he or she actually has.Figure 2-2 records the quantity ofsoft drinks consumed by a person in one week on
the horizontal axis and thequantity of hamburgers consumed in the same week on the vertical axis. Thecurve U,in
Figure 2-2 includes all those combinations of hamburgers and softdrinks with which this person is equally
happy.For example[J the curve showsthat he or she would be iust as happy with six hamburgers and two soft
drinksper week point AJ as with four hamburgers and three soft drinksC] point BLJ orwith three hamburgers
and four soft drinksO point CU .The points on U T allprovide the same level of utility(] therefore[J he or she does
not have any reasonfor preferring any point on U, to any other point.
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